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 Falte das Blatt entlang der Linie, berechne zuerst die Klammern und berechne 
anschließend das Ergebnis. 
 
1. (157 + 182)·(95 + 161) 

= _________________________  = 339 · 256 

= ________________ = 86784 

 

2. (22 + 84)·(23 + 159) 

= _________________________  = 106 · 182 

= ________________ = 19292 

 

3. (86 + 182)·(97 + 43) 

= _________________________  = 268 · 140 

= ________________ = 37520 

 

4. (176 - 106)·(60 - 55)  

= _________________________  = 60 · 5 

= ________________ = 350 

 

5. (57 - 41)·(155 - 57) 

= _________________________  = 16 · 98 

= ________________ = 1568 

 

6. (172 - 103)·(96 - 19) 

= _________________________  = 69 · 77 

= ________________ = 5313 

 

Ergebnis: 


